Classroom Exercises:

1. Get the students to brainstorm in groups, coming up with scenarios that might require an organization to employ an Expert System.  The groups can be broken up by industry:

a. retail

b. banking

c. defense

d. mining

e. medical

f. management

g. forestry

h. to deal with the large retiring baby boomer population (not an industry, but an issue)

2. Answer the question: When analyzing current decision making data to create decision trees, why might some of the data not fall neatly into the decision tree pattern?

Continuous variables such as ‘Age’ or ‘Income Level’ can pose problems because they do not fall into a few neat categories like ‘Loan Type’ (Car, Education, Small Business, etc.).  However, these continuous variables can be made to fit into categories: ‘Age’: 0 to 17, 18 to 25, 26 to 45, and so on.  

The person analyzing situations and making decisions may come up with different results not because the criteria in two situations are different, but because of some extenuating circumstances (bad mood, after lunch, etc.).  These are the human inconsistency with routine decision making processes that will be eliminated with a well defined expert system.

3. Ask the students to download the Expert System shell from EXSYS called CORVID.
here is the link:
http://www.exsys.com/DownloadStart.html
In class, apply the shell to the Loan Officer decision making table below; use the accompanying PowerPoint to guide the class through the process.  It will be useful to read CORVID’s instructional pdf and review the PowerPoint at the same time before presenting it in class.

	case number
	loan purpose
	ability to repay
	past payment record
	loan officer's decision

	1
	frivolous
	good
	good
	GRANT

	2
	frivolous
	good
	slow
	GRANT

	3
	frivolous
	good
	poor
	DENY

	4
	frivolous
	bad
	good
	DENY

	5
	frivolous
	bad
	slow
	DENY

	6
	frivolous
	bad
	poor
	DENY

	7
	necessity
	good
	good
	GRANT

	8
	necessity
	good
	slow
	GRANT

	9
	necessity
	good
	poor
	GRANT

	10
	necessity
	bad
	good
	GRANT

	11
	necessity
	bad
	slow
	GRANT

	12
	necessity
	bad
	poor
	DENY

	13
	luxury
	good
	good
	GRANT

	14
	luxury
	good
	slow
	GRANT

	15
	luxury
	good
	poor
	DENY

	16
	luxury
	bad
	good
	DENY

	17
	luxury
	bad
	slow
	DENY

	18
	luxury
	bad
	poor
	DENY


